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47, Question figure;

=

|E2

Answer figures

=t el
i
I

IS

(4] (8) ()

52
d

48. A piece of paper is tolded and cut as shown bslow
m the question figures. From the given snswe:
g, invdicabe fow ik vwilk apper when opened,

{usestion figures

(DED@ B

49,

Awired is represamited by only one sut of fumbers as
given ift any one of the alteenalivis. The sets of

-numbers given in the altenatives ane Fepiiented by
. two classes of alphabels as in tvo matrices piven

below. The calumng and rows of Matrix [ are
numbered from 0 50 4 and that of Matrix | are
numbered from 5t 9. A lettor from these matsices
can be represented ficst by its row and nest by jts
column; e, ‘B can be represented by 43, 3 ete,
amd ‘R’ cani bie represented by 97, 68 , ol Simnilardy,
you bavve (o identify the set for the wond gaven
TOLDY,

Matrix -

—Matrix-T1
gl1]2[3]a slel7[8(2
s[ElL M NO sfPlolE[S[T
IILM[ElON slTislolPlR
2IN[O[LIME 7RIt s|olr]
IHMIn[OTK]T s|SIPITIR[Q
Olo| KNI M slolriPlT (S
us, 00, 22, 44 By 88,33 26, 48

Q) 66, 21, 24, 25 D 79,12, 16, 36

If & miror is placed on the line M, thess which of
the answes figurod is the rght image of the pvem

figrne ?

[ - "
ST, F R

i
A F 43
Rop— nswies figuras
% |
1 Du_ " T ]
RN EI TR j%ﬂ_
W e © (o L
s SPACE FOR ROUGH WORK <ipiaes
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J|LiMIK[OIN] (8T (S[OIFPiR|
2INIOLIMIK] [7IR|T[S{0lF
() L MIN[O|&|L] [&|s|FITIRIG
DIOJKIN[L|M] [STQR|FIT]S
{A} 95, 0, 22, 44 (By 88 25, 26, 48
, {5 ne, 28, 4,35 L) 721216, 36
£ 8. i T et fEw s s e _ ]
n A TV EETT 95 AT o e o e P | B0 TR TR I TSR A g
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e

i

In the colingr scheme, if ead stands for I;-IL e. blue
stands for green, grean stands for white, then what
15 e cofown of the sky 2

(Al Blue

i) Red

By White |
0 G

Anand ranks 137 in a class of 33 {thirty thres]” Thero
are five studants Bolow Vimala rapk wise, How
many students are there:between -Anand and
Vimala?

Ay 14 B 12

amar

0 11 iy 15

-

I SLENDAY i3 coded as TVOYDA, o svil el
code ACTIVE?

SUNDAY - TWOYDA then ACTIVE: 7
(A} BDUVEL (B BOLIVE
() BOUEV {0} BDUVIE

sin persons R X LM A T standing in a circle facing
thie cemire of the circle, L s betwieen X and M, A s
between M and 1. X is between R ancl 1. A ds |
standing to ihe left of M and right of | Whe »

shareding next 10 B 7

Y =2 O =00 G0 8 - 80 thep SO -

{A} BT iR 6 Iy 56 FEIY

FTSTETIES

Usiscramble the ful!-nvr'in:.; letbets b frame o :

meaningful waord. Then find out the correct

numerical position of the lettars t
I

N BEETHTIMBDTE A

P 23 4 5 6 F 8 % 101117 13

A 214953 10861112713
) 911632 12104151
(D) 34156289711 121013
D) 14257369811101213

e

47,

44
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SPACE FOR ROUGH WOBRE

Karn rernembsees that Tis Brothee §
fiakby o Fieey 22000

Ay birthday
Lt 280 gf Angusi;
while Lhewl rememiliers Luisinans L'-.r.h-j’t} Fakis
beafone el [ Aagist bt afier il n' "nlgu*l i
what date Laxman's bipthida s .II
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(&) atawephers (8] tempralure
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34,

i,

11.

42,

17 e Al 7 o e e 3, R b e 1,
W oY W A Amm iy

{A) At

iy v

(B W

(C} &0

B TA R TR A EEnA )
% 3R fawen 7 9 5 el § s o fewn
TH 1 R eE E?

(A) 14 B 12 0 16 (B 15

Tz SUNDAY F TVOYDA == 1 Tomn o/ £ 41
ACTIVE % farm 7 & foren s ?

SUNDAY - TVOYDAT ACTIVE: 7
(&) BDUVEL {By BOUIVE
() BDUEY ) BOUVIE

S RX LM AT T9 ¥ 3% 5t 30 99 70 7w
TAHGRE xfmF I e MR TS
AFATERE R S dmxmat AT M E
0 N AW TH IR i e RE A S mm ey
A} X B |

i) A 13 M

T ¥ =2, G0~ 32, SHE = 49 T SOME =

(A} 62 M 64 )56 (O 58

e B e 5 T e o e
e fefs 3w Fifam |

BEEINTI
.

I
3 4 5

|
1

MTXT EAOC
6B F B4 1111213
{8) 21495310861112713
{(B) 91163287517104 131
{Q 34156289711121013
D) 142573698 11101213

e e

[ EEE ]

45,

47,
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: PART - B
' GENERAL AWARENESS

Lo Thewdammaiol G is:
K Bohrotia

(B) laxman Dad
7} Metrakumar

{0 Vinod Rai

52, "Punis a cohstant source of energy’. Which nuackd
i gt fused in Sur's abmosphere 7 }

(6 Fhetonium

(13 Helium

53, - Statemient 1etuinioe ismeed . i the Sreatment of
Malaria.

t2: ltisobtained from the root of Cinchong,

Ginth Statemgnis ] and 2 are coveedt

(B BolhSaterents T and 2 are incoreect

IX) StabdfTient 1 & correct, but Statement 2 is
et

1 Statemens 118 ineormect, but Statement 2 is
coprect

54.  Speciess a groupof individuals which can:
vemair reproduciively vistlo

(B) vt intar-broed
(0) successfully lve together in a niche
. (T snrvivre even under odd comditions

Sta

. Linahes is cansidered as the 'Father of Texowmy!
beeause he:

o — AN propoeed bleomi Tl aters
(31 #EnthorE ey Bagls o Y
15 st e sk Peimon &clanby ol
(O cained thetorm Taentgoar

PR

o, [ pirticles ooitied froom a wdiosclivenacie am;
A Bt moving nekrons
fey mnowing claci o
[y hydroezen nnels
(04 l&-f]ium nehE

51 Which of the jolio -'r'kl'lg el was nat Jed by
flahairra Candhs
(&) Mon-toopesatinn Movement
i) Civil Disubedienre Moveent
(G} Champaran Satyagraha
T Bardoli Satyagraha

58 IRDP was introduced during the ;
(4 Fourth Five Year Plan
18] !_Th.ird Five Year Plan
45 Sixth Five Year Man
{0 Fitth-Frve Year Flan

CY-2013/ Pageld

59 Taj Mahal was designed by
inl Ustad Bakins

; (B Ustad Shazmpsher
{7 Uskad EBsa
&

D Ustad) ianso

afl. L’}Jhu.m T Party w ng
A profest agaiisl Hhe tea tax
(B} anannual social affai

() acelebraticn of e harvest of tea leaves
(DN & protest agains) ihe i drinkess of Bosteh

B3 Why were the Congress leaders disappointed with -

thie Cripgps Massion [1942) 7
M warrtid [ull independence I&thtll iz

Diornimbon St b,
(E] The Mission's propisals had not paid atlention
10 the demands of the Muslim League,

i) They did ot veant toshare in the responsibility
for fhe defence of ndia

i Mune of the above

62 Enmmeriie ﬂ-Le"-.-'ni.f-:i:'.;_:as: :
[ Fmae (B Elewven
s {8 Tewar

l.'l'.- el pecsEnt L e een oy e anc phloze o

':'-..i.:.'\. ir
=t ql'—.—* (B steTelsEenTT
¢ pih (e
et Codeciive favening 19

Al g ihe mmsalands i
N

(LA} praivies

Al TR s
1] welbis

B5. T tievarthstops

i g Fece wrill ;

(AY remam the same evenywhens

(Bl incresse at some places and remain the e at
othier places

(0 increite cvernwhers

¥ deceave everyiier:

1

HRE, ?!'E&c'lﬂp-cm‘ﬂl‘-'aldﬁf bk

L

bB.  Which mtbers o under the Origiina] furisdiction
af the High E‘mtrl

fA) Crimvinal dispubes (i I:'_wahauunm.!.dmputeﬁ
{0 Civildisputes (D) Clection disputes

233 M3

BE

=g




vith
ham
ion

ity

Tl

the

Eon

12 at

IR

wil 3

Y201 3/ Pagels

N
[T
51, T FR (LIC) =T #ree Sim 2 ) 59. W AEE L s (T (R g e
ﬁﬁﬁT . (B mEmEm (T TR, AR S
Q) Hgm (O} i ™ () S Y e
2. "fﬂdﬁ“wmﬁﬂjﬁﬁwﬁﬂ 6. e 7 o , -
I = R o &2 (A} = ety
W R (g (B) T =l T
3 - ] i A v 3 -_.I- =
R L () T T W e O e
B, FEL RIS ey | o O e T e w
WA L : T8 A 7 | W9 ¥ e £ 61 o S G T (T A o s 42
Yy e 1 o 2 e e (&) 7 Elferr a5t e gl e
() 0 1 8l 2 36 e (B Fever 5 e 5 e iy 6 i 07w
() Wiﬁﬁi‘.ﬁwzmh et o e
(L) F 1 T O, Wiy F91 26 () & vIa %t 2 % form e 3 iy d) ey
54, TR (Sl i e e |
T A TR w  ween T A (O} =74 9w
(B) HHTW i S
() T T 8 ey v v wEA 1 oe mﬁ?w{mq -
(O} T et o of e o5 w21 “"* S R R L
55, T B iR e o ow (e ome | 6% TR T s i D A e o d
Tl i T (ay Trar L Sfmm s ) UE Sngn
(A) TET - T - vl i {0y g iy |
(6 =it e T 8 o e g
(G T B e s = e o o %6, Wl ot il W e g et o
(@) it e v % T fr Ay TR I RR=ILE
s o 0y Fe 0y
56, Tt e el 4 i - wm E SasE
(4) FRREH AR Ry o e e 6. A et S {9 W T O R
() TR ) PR T T -
: : (A) W% wE
BT, Ak it 2 ; e
F mﬂiﬁ?ﬂmﬁmmﬁamﬂuﬁm ® Emm A off W S T W
I- - & l :
_lA) S qEE () TS S @ W T
d [C}n I P Sl e (O TR -
53}- ﬁﬁ'mﬂ;ﬂ'mmﬁmmﬁ’m B, = AR % T SaE s e aes
() =t o Fif A T E? '
T T T A ' :
elfilaligod (8 S A ) S
D) S S

22T N3

Lo e et

T gl i e s

EOL AT



67. Krishi Karman Awgrd tor highest growth in

Hoodgrains fwheat, riceand bengal gram) production:
was conferred gn (0% February 2014 to the

BOVEE TR Gl -
(B} sthan
\Lw/.z!ifih}rn Pradesh

(A} Uttar Pradesh
(T} West Bengal

bi, When contral bank I:uvq sacurities, bank reserves :
(AT emaing the same
{B) has nonmpact on the reserves

ffﬂ-}{xﬁandi
2 {0} contracty
69, Infemns the xylem is -
}'rl"-'[{:iamh {B) Polyarch
O Exarch [T Endarch
0. TheWords of *Secalar® and “Sucialist” were added
to the Preamble of Indiap Constitution by the
_ amendment .
(A 46t @ zmrhw(c( gy 44
7. Krivoy-Rog has vich resources of -
(Al Copper Bl Manganese
1 Coal BT Iroreore

Which of the following i not zn attribate of <Foats
elernent !

(o TR et e o=
I i fEL
T I ' e AT

s

T Coler -

L
3 TlaiHmd? was B sbogan wiven by :
4] Subbas Chandra Bose

(B} Gopalkrshna Gokhals

FI.’,:-JT "Chanidrs Shekhar Azud
D) Lokmanya Tilak
4. Innatore, bophic levels dre foand i
[ﬂcf Ecosyslem

(B) Vissursystem
~ ) Rootsystem

i) Shexot systam
T3 Asolid cannot change its ‘-.:hﬂpl.. eagily compared to
liquid because pf: L&

() larger intermilecularseperation in sofid
B} bigger nvolecolay stz of solid
01 higher density of solid

ﬂﬂﬁj’sﬂuﬂgrzt intermoleculas force in solid
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R

=

i L Ii e —— e

Y6 Thell MIEELHES Fenaain p o fiee
et poriod of g years o Gl they attais 65

years of age which sver i carlivr

i) fora period of six years oo H they
years of age which ever wcarlir

153 fora period of five years or sntil Lhiey @k &)
years which over is varlier

(L} fora period of four years or atfai 65 Yo o
apr whicheewor is onglier

sbliviag A4

7. Dr. B.R Ambedkar was conferved *Bhiarat Ragna®”
during the regime of -
(A} BIP Y B -
{5 UPA Y NDA

8. The production, “marketing, storage_and
COnSUMpHAN of nicoting - based producs is lanme]
s .
Hﬁf Assam (Bl Mizoraim
(5 Delhi £ Rajasthan

T

"Warand Peace’ was written by ;

{4 HN, Tagare 1) Sarojini Maide
Lea Talstoy

M Lenin

Acetic actd on decarbaxylation gives
(A} Propune {B) Dutans
\H!'E:l"ﬁt'fhf‘-l'lt L Cthane

Bk,

8 Urecaland iy 5

£A) Lave platogil
(65 oot sty comrered vt
i) b ice sheat

s, Wl-figh platcaw covernd with ice

an
=

Who wroteAs Yau Tikeit' ¢
(4} Leo Talatery

A8 Mulk Ray Anand

2 Bernard Show

L William Shakespeare

L)
Ll

The Nubed Prize for Arthur Komibarg v given (o]
hig weosk on ;
{4 Lracking tripiet code
Bselation of mcleic acids
A0 Mutation theory
(M) One gene one polypeptide by pothesis

84, How many chromosiomes peirs ave iG-a hunian
body T

e e S (o T T
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i,

&7

a9,

il

21

W2

H{BT"Eigh& Five Year Plan

(N Moneof the above

Laguidity preference means ;
[y Shuwing preference to hold capital assets

(Bt Showing preference Lo hold bonds and
seulitilieg <

{C}, Refraining from consumption
Dregire of the pablc o hold cash

Which of the tollowing plans had actual growth

rate higher than the targetted growth rate 7 I

(A} Sewventh Five Year Flan =

[ -Foueth Five Year Plan.
(13 Fifth Five Year Plan

Which aimonyg the followif isnok corpecily paired ?
(A} Butvric acid - Raneid bulter
B} Formic aciil - Vinegar
(C) Lacticacid - Milk
- Cikric acad - Bemon

Whiz veas the srandsonaf As ?
(A) Dashanan asharath
15} Dasraj ) Dashkumar
Clhvima Bl the Cuwadar Port s

(&) Wyanmar
(G Pakistan

B Vietnam
13 Banptadesh

153 —
A

Cine o bl followring w S cnnosiistions] powe of
ihe Indian Farfameni:

(Al Seliling dispuies among variows departmenis
{B) Reviewing the work of eduvational mstitubons F
{0, Supervising the work of stae legslahires

Amending Tndian Constitution as and when
i eruied

Tape recorder records spunids inthe foom of
[A) Varable resistance
{Ch Electrical epergy

(B Soundwvaies

;Ef Magnetic erergy

Enzymesan:: |
(&) Carbohydrtes
Biological Cakalysts

<0 Fats

i
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Ui - Probioiic cord  (Yoegein
Dedsefitting good :

l] anlibickics }Bf‘lm-'[ﬂ'i:.

(L) s ol snorsy !|.-|||:1'|;|,"r|i-_'F}1f..¢-1:,

conbaing  heilih

. Private investinent i othenwize called as |

(&) induced mvestment
(B anlonomous mvestinent
{23 Foreign institutonal investment
(0 toreign dircct investment
L

®5  The information it "BEPROM is erased b using -

\/&,/Eledxim! Signals {B) Digital Sigmals
IC) Electoms (D LY - rays

26.  The National Campaign for People's Right to

Information (NOPRE) has been lobbying for the
passage of the "Whistle bluwer's Protection Bill”,
which is aimed to help:
(A Woman Activists
{';&’(RTE Activists

L

=L

i) Street Vendors
) Nome of the above

—
5 Which e of the foflowing ame recovded livst by the
ST ¢

AT WAy

LR e T
»

The'iaboar which creates valoe and gets pevarded
10T it servives i calked

(h 13 e

Qs
= T 5 s

st umproductive labour
{H)  both skillad and unskilled labour
5 average lakon

/}Eﬂ! prodiene labogr

#9, Where did Mangal Pandey rewvalt ?

43 Jhamsi (B Mas=ik
\@/grmckpur

() Mlesrat

100,
N7 7

(&) Lyrlia Dranvis
. (<) FlaEh.alt i

{H) iskina Legards

Eller Johnson Sirleat

e, ] B

Whit a5 the winner of the Indira Gandhi Peace Prize -

o B

L
>

,: |
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QUANTITATIVE APTITUDE :

WL A somoof 76 s divided ameng A, B, Cinsacha
way Lhal A gets ¥ 7 more than that what B gels and
B gets T 6 more than what C gets. The ratio of their

shares s~
[A) 12519
o) 1903533

(B) 3:24:-2
M 13:24:33
o= o .10
102, The value of i + E%J— - Boos 607
oo F s 710 '
A 1 (B 2 -1 o
o
103~ 5 =7 4 /3, fhen the valoe of ['ﬂ ¥ ? is
M B 16 1| D12

14,  The least number which noust be added 01728 1o

make ita perfect squareis
£y a0 \-/[B{'}éu

Ay 32_ . (B) 38

ot arvive atyour school 3 mobnukes bate of you walk
with 2 speed of 4 kmy'h, baat you ardve 10 minutes
before the scheduled tima if youwalk with a speed
of & kmy/h. The distance of your schoul from your
bunzse (n ki

\f\)ﬁg e 2

s tratn aroases i platboom n 30 seconds travelling
withaspeed of 60 kin /b, 5 the length of the irain be

105,

(¥ 4

e

05,

Alimetres, thuthe length [ metrea)of the plattorm

int '
(A) ;uﬂf’ B 200 () S0 (Y 400
Nt

107, Cmwhatsumal money will the difference betwees:
Sl and Clor 2 years et 5% per dnnum be cqual to
225/ 1
LAY 1,500 (B 9,800
) 9,000 {0y 10,000

5o 4
108, The cost of & lwouse is T X lokhs i 2005, Afler

3 years, the.owner of the howse sold it for 25% more

than shgfiaid it. Bul she bas topaya tax of 50% of
the - The tax mount she bas i pay s
AN B X © W D) X

109 ¥ poeds be purchased for? 450 and ane third m.hl
al @ loss of W At what gam percent should fhe

remitivdir be sobd g0 as o gain W% on the whaole

T

(O] 2 years ([ 22 years
1Y [f Lixd L +'ﬂ_—h:=| amd a—h+e=1
A b L
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S S |
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i 2 el U0y Jong end 30 mowide, By how M
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134 e angle subtended byachord at ifs centre is 607,
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[1'1 {HI- \lrz_"'l

i) 2i1 {12 :

115 A shopkeeper marks his goods 40% above the cost
price. Hoallows o disoount of 3% For cash payment
to his customers. He recelves T 1064 after paying
{he discount. His profitis: -

() T 16 {B) 3 200
(C) 800 @ T4
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116, I then the value of

'.|T

l 3
W 7" m oy o

The term to be added to 12122 #6402 w0 make &

perfect square is:
(B 78 ab
\Mab

(A} 276 a%h
() 188 b
Aivand marks up the price of an articls by 50°% and
then allows a discount of 20% and sells it to Balajr
Balaji sells it for ¥ 20 more than what be purchased
for, this 5.7 20% more than ﬂw-:mgmaiL Pl e

article. Then Ballaji's profit %,is
\%Vﬁ:w
Y 7.5%

{A) nohRd
) %%

It AFGH 15 isosceles and FC < 3om, GH =8 o then
of the following, the true relation s

(A) GF=CH E FH>CH
y’éﬂﬁﬂﬂ

Iy G =G
A candoa prece of work in 6 days, Bin 10 days and
€13 days, They jointly complete the work aned
#2300, The sum of their winpes frr > days i)
¥ (Bt 7 a0
L R . (TR = 14n

114

114

* 134

. For what value (=} of E the expresaion

o

| PR P! i
J P+ EY s a perlect sqoare 7

|
I+

1
':J'“I.} e

LZ2. Inw angke, if orthocentre, ciroumcantre, jncentee
and centreid coinede, then rhe trinngle must be -
&) isosoeles I'Ei_-_E,,*Eunt-era]

(CF right-angled [0 obture angled

123,
dizgenals are equal, then each of the sngle-of the

auadrilateralis 5
() el \[Li}‘/*.-ll'.l"

i 1200 @B 1000

e Ll

if the opposite sides of 2 quadrilateral and abso its

| 328 T ABC isan equitateral braangle anad T 0, B

respctively deviote the middle pointsof AR, B Ca
e

W) PEOR - PR=AB

B PO+ COR+TFR=2AR"

I} P{_[-l st be a rightang led tnun!;!:,
[£¥ imasEk e an Bq‘lillil'l:_:tf!k triangle

135 Thepumencal valys of
14

A 2

- — et 2774

T L‘!:E-“EL'EE.?"'.'
Tyl 0 -

® -1 Qe mr

] 1
IE 5= 24 J2 then the value of © Tx

E-{{aé
I
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% 15552 HM 5
G 8.2 D w2
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[4) 125 (&) 625 {08 iy 25
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= z
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132, [F15% of xis same as 20% of y then x -y s 140.  Two trfangles ABC and POR are conprsent. 17 th

(A) 5:4 ! W 65 o~ 34 M area of AABC s 6 sy oo, thers anea af AR 1-;';:13:
D
133, For s triangle ABC, [ ied  are two points on AB e s W ol |
7 1 : {0 e - W 1 ). L =
and AC such thal ALx= > AR, AE= EH.C. It
BC=12cm then Tl is: 141, In I.'I.|"|1H'{.._r . B=9:’-ﬁ.2|.1'llj ABLRI =211 Tl‘ll‘.‘l\"a!ur!h;
(A dem (B et @ Geme | () 5o s A oot Ce:
v M"s o s
134, A mansaves ¥ 25 o0 the purchase of an arlicie on 2.5 1B) 2445 2
“which a.discount of 20% 15 allewed. How much e ; - -
dicd the man pay ¥ 8 e R Ty 35
(A} T 150 00 c .
@ T iy ¥ 142 s m= it + o the value of il be
&) o— (B} 1

135 Iitan i oot B=2 then the valoeof i

1% Y =1 “idorie of the above
TV R v - I M A 2

143, A cistern normally takes 10 hours 1o be filled by,

136, - Avea of the Boor of  cubical room is 48 sq.m. The tap. But because DIIII Teak, it kakees 2 houys more, |
length of He Tongest rod that cm be kapt in that o many; hiours will the leak empty a full cistern
BT 15 (&) 48 Bran ., )0 (D 45
M B 1Em '
) 6m Oy 4 m The graph shows the result of 20 class students of
school for ¢ years. Study the g;raph and answa
O.No. 144 to 147,
137, §Fsin Tr—:' -;-| — Ea 2 et wnlue of X2 : o e EE,
-\.-:!.'. . | !'“i —_ e k- A _-.::;\,:_
(Al B 1 | Eui'__ =y e =
iy 1 fifi roneal Hhess 2z :
g
R
138, What 15 the produci of the roots ol the sipiation :E ?nﬂ o 1l o
B fda
S — g = njl E EL_ — % '|-.'|:|:L
(8) 1 ; ® - 3
=
8 3 S (1) R ) Il: ;
i | R L P =
139, A and B together cim complete a job in & days. Both Sk
B and C, vorking alone can finish the same job in | 148 Theatio of students scored Eﬂmﬂhﬁﬂﬂwﬂ
12 days. A and Beommence weark an the job, and siudent appeared in the yeas 2
weorks for 4 days, whereupon_ A leaves, Bomtinges (A 437 \‘j’i&‘: iy 1l '[L'- (i 3 1
b 2 more days, smd then leaves oo, Cnow starts
1-:¢:|rk|_|:}g, .;nd finishes the job. Hovpmany daysdid-| jae  The number of st ts appeared for the 10% el
S-Tegire 7 exam in4hie year 2007 is
{a) & (B 3 & x5 pefos B 2000 Q120 @) M
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. o144,

|

T wear nawhich the maximum r'|ur111'9£'r{ltstl-|d'_5r15

appeared for the 1M class examis:

() 2002 (B). 2003 qﬂéﬂl

) 2000

147.  The percentape increasc of fiest class i the year _2{"1’-

ower e vear 2002 15 approximabely -

0% (B 0% 9% [O) 1%

Study the diagram and answer (). Mo 148 to 150.

A

HC

150,

@ Food

i Clothing

@ Education

) Fuel

B Fhowse rent

B Miscellangoous
What Frachids, &f the lolad s=pendifure & span
Ldneabon i famdiy A7
(&) 9713 ‘ﬁ"-}/'[,":'i {0 137200 (O 2/3
I the total annual expenditare of Bmily A is

% 30,000 then money spent on food, cluthes ead
honserent is

(AF ¥ 20 (B &15,000
O  Ti8500 — T 18,000

[f the total annual expenditure of family B s
T 10000 then money spent on dlothes during the

yearis: : L5 v.EJ/
(A} T abi0 By T 1500
o) €0 (D) T 600

14L

145,

146,

147,

144

§45,

15

FOR VISUALLY HANDICAPPED
- _I;.A.N DIDATES ONLY

U whal swrmof money will e simple interest fo
Ayearsat &% per anmim be half of e compoung
interest on £ 400 for 2 years at 10% per annum ?

{8) 195 B T 205
0L T 165 Y T 175

Find the odd out of the rollowing set of nuwber
16, 20, 27, 32,39, 40

Ay 27 (B} 3 0y 40"

iy 15

The average weight of 15 workers is 60 kg, 'Th
average wirtehtof men is 20 ke and thatof the ladie
1= 30 ke, Thar pnnber of fadics is

(Ay 7R {B) e {0y 50 {70

Ux=2 y=4, p=8 q~10, lind the value

1'
o+ — ‘._l
— TR

{A) 32

.'_. :
. Xy

=1

B 24 )30 2
In a rieht aneled Frangle, with sides 2 and ba
By |:'_.r\-1-'-|.u;;-_'-._"if e Al ke oot Sy oo baEse 3

theen ;

‘The selbing price of 12 artiches 18 affiiel e o
price of 15 articles: The pain percent s ]

() 25% B0

Q6%

A

L 45 Tibre of phenstwater the ratio of phenoltowi
i5.2: 23, The amviunt of water that should beadd
to iF b0 make the rabo 3437

(4 BliEre B 2litra
(€3 4 litwe Ty 3 lite
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. PART -D
ENGLISH COMPREHENSRON

Directions : In quistion MNo. 151 10 155, some parts of the
senterees have errars smd some are correct. Find out which
part of a sentence-has an errar and blacken the
oval (@] comesponding to theappropriate ketter {4, B, C)
If a sentence 15 free from error, blacken the oval
eneresponding to (D) in the Answer Sheet.

151. " Partot the research pedpram” ]

mvalved fntervinwing Eenagers;

B}
i inmer-ciby aregs Moernol.
i) o)

152, Theyoung man [ was 5ug¥ixd i
{A) _ABI

perhaps o shade scandalired / Wf
i) :

153 Much barassed |/ e Jebt jigetol
o A )

bag znd bageaee B Error
[ {£n

154, Toonlic notput upataholel
(M) '

Eﬂiﬂﬂl@ﬂj}éﬂ lodiing charges/

were o expensive f No error.
. () v

155, Em}mi'ﬂnﬁﬂ’f!fﬁ[lfh'fm?'{i\?ﬂf
@ e

a packet of sweets f Noegror-
{©) {01 -
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Erivections : [n question Do 156 to 164, sentences given
with Blanks to be filled in with an appropriate word{z).
Four alternatives are suggested for each question. Choose 1
the correct albcrnative oat of the four and indicate it by |
blackening the appropriate oval | €8 | inthe Answver Sheet »

156. The prmcipal has given his - __ ol i
friziteh. -
(ALefEant (BY “except

- [ amcent (D) refuse Z

157, She heavd the o the harig s
(4] srEaking (B rattiing

mustling (13} crashing

158, The sound cifects by thee recording

directar,

(A provided M]’Uv’idﬁ]

1) being provide ([ been provided

95 Fheos _ ot eotion s were heayy

(1A I|,'_.'|-i :I_‘!'! !_'.-\."\:.J

g bl \fu_ : =
o, Thehunier ibes oo I dirma

(&) & B Mo
i g T | (£ foul

Directions : In question Mo, 16l to 163 out ab the four
alternatives, choose the ope which hest expresses g
meaning of the givim wiond and mark it in the Anevd
Cheel. £

161, Canlanberons:
{A) djprespectiul By moasy L
y‘;:m:-]mme £} mash ‘

162,  Wocatien:

Ay halicday (B} exarination
£ caminar . Wcumﬂm T
T2 Wi




163, Honest: )
- () actual {B) authentic
Jj:ll't_ghf. D direct
P given
rardis).

H“m Directions : In question No. 164 1o 166, choose the word
le it by opposite in meaning to the given word and mark it in the

‘9t J6s. MISERABLE: -
(A} Taudable (B) solitary
Al
(€} happy (D) active
165, FRUGALITY -
i {A) capfivity B} gaiety
‘ﬂ’p/rziga]:iry {0y enmity
cording ee MUMANE- _
(&) man s Mn;nd

{C} lwing being [T persan

2

Directions : In question No. 167t 171, lour albermatives
aregiven for the [dicm' Pheass underlined in the sentence.
hoose the alternative which bis expresses the indaning
o the Idwm', Phiase ond mark ftin the Answer Sheal,

VBT, 6%, ‘Tocut ong short.

{4 o inberrupt ome

) toinsull gng

) toloveone

I Socriticise one

the fouggg,

He is a cut above all the athor bovs in the eraun.
isoes Th _ g abues i Gvp
- Answe E&}/ﬁﬁ";f BUperIor by

(B} quite talier than
() more active than
™ a little rougher than

163, As soon s the police armived, the bank robbers
(A) wereincensed (B} calmly left the scene

ered I:D} Fam -.aw;i]._r'.

222 M1 Z¥-2013/ Page29

1. IF voo read betweeen'the tines, visa will nppreciale ;
- whathe writey i

(Al com read arsd wribe in e g oag:
(B) can read leaving lines in betweay

1 (L can read a lot quicker
»\_M'nﬁl.l—' whal the wyiter think: -

17%. To throw dust in one's BV, 5

A o mgke Blind
\_ﬁ)’ﬁmwﬁ‘

Dirveckions : In question o, 172 10 187, 4 sen ence/ & pat
of the sentenece is underlined, Below are given allernagives
tothe undarlined part at (A (B), () which may imprave
the sentence. Choose the correc| alternative. In ¢pse
o improvement is needed your answer is (L), Mark vour
answer in the-Answer Sheat

[ﬁ} 10 harm srmenn:

(L Lok falee things

7L We did oot see this movi yat .
() neverseen (B} Have not seen
(Clnever havoseari (10} Mo improaneTent

LT

s felophone uumbes B Ea S fsEing

(A) Gagnotexished 09 hawsickbaer wetbtiin

-:T;-r":.f!r.weﬁ b esist

.

(L Nerimprovemess
178, Rajesh's ability in use the locss lamguage surpring |
e

B - confiderive with

(&) knefringol
familiarjly-l.'iih D Mo improvement
\-_.F

175, We have to Jqow thist we can achisve things slowly
and gradually, nel overnight.

(4 wouldknow that (B) had ta knew flat 1

LR st know that (T3 Mo itnprovernent

176, During his long discours: |z did nod touch e
central iea of the topic

{4} Eg].h-‘h M fowchaon

w5 touch Py 1) Mo irwrovament

P £



177, Unless thev.modify the system, our fature

penerabipeeill suffer.
Linless the system s modified

(B} Unlbess the system will be modifed

[ H the system will not be modified

{f!} Mo fope nvement

178.  The sight of the lizard is hateful ko me.

W]I‘ﬁiﬁ

Iy Noimproyermen

{4} pepulsion
(&) repulee

179, lusually did not ke sugarin my ea.
_M mot iake (B] donottakes

{0 havenottaken [} Noimprovesment

180, Wouyld it be impertinent o ask why voun are
" Jeaving !
A} o asking why you aredeave
B [orasking why you ore leaye EA
(&5 1}}>§£Lm|:', wikiy i AR R0l i |
‘H..Ll"{ i‘dmmpn_m-:'rns!ni |l
181, The student's interesl was zaised by snarticle he |

Tiacd Tead.
(A} guickened
y/qi.n-:ruam'l

Directions : In question Mo, 182 o 188, out of the four
alternabives, choose the one which can be substitutbed {or
the given words/ sentences and indicateit by blacksning
the appropriate oval | @ | fivihe Answer Sheet.

(ol tiped

(3 Noimpiovenns!

182, A sirong dislike:
(&) malice " iprocity
8] :Enl'I‘EM-‘_-" ! nmrnu{-‘lt} ! 1

CY-2013/ Page3d

18% . Takepesat pleasun
(&Y overhau TEYE]
0} satisfied o uphwid o
184.  The Mahabharata is a fong poem based o o nobie
iherne:
AT (B sasemmnary
) shory (i) narration
185, A frog lives both on land as well as in Water -
{A) ambidestorons (B} animate
ﬂxﬁiﬁu (O aguatic
166,  Parson who files asuil
{A}- accuser (O charger
i) swibor plaintift
187

Ihe practise of aving many wives |

A palyandey i} hjiz;m'n'

(€5 calligraphy A8 poliga
18F, A pexsn wiho abis@ins cOMpreiely S50 a0 thot
i

LAY InCrirmnary Mtﬁ-‘-aﬂﬁ

iy deralicl O subjnclve

Thrections s In question Ne. 189 and 199, [our words are
iven in each question, mat of which only oae word s
eorrectiy spelt, Fird the cormecily spelt wornd afi ATk Yo <
snswer in the Answver Gheet.

189, (A) missiommary (B} musonery

G Missionany (O} missnnary

190, ) propels Mjpdlal

il i .-{E]\WTEL. - .--'#-llﬁr'-""r"f‘::"F"E!;El'



Directions : In question Mo. 191 to 200, you have o brick
* Passages with 5 questions following each pastage. Head
the passages carefully and chonse the beést answer b each
question out of the lour alternatives and mark; it by
blackening the appropriate oval | & | inthe Answer Sheet,

Passage - | [Question No. 191 to 195]

The reparts published by o Delhi based
non-governmental organization working for the
elimination of child labour n India suggest that there is no
end in sight to fhe sordid saga of child labour, The studiss
conducted reveal the nightmarish ardeals thae a vast
majarity of chuldren undergno for getting the basic necessities
oflife. One of the nctivists narrated the heart-rendin gand
shocking stories of many hapless chitdren. He accuisad the
society of insensitivity towards this vulnerable section.

tt is saidl that move than five percent of the 1otal Indian
population are child wurkers, Ters of thousands are chiefly
engaged in agriculture in rural areas and in a variety of
industries in urban areas. Children as FOUINg a5 Seven yoars
of age spend days stitching foothalls, bowing and cricket
gloves for export, Many children spend their entire
childhood making corpets with their dexterous hands.
Unofficial figures sugpest thal as many as 40 e 100 millian
children work in lazardous industries like slissware,
fireworks, quarries ste, Many of them have been forced to
work in unhygienic conditions often on 4 casual hasis,

191, Thew childhiond BEponlin
(A} urban B vask
(C)-nightmarish

remditions,
i hapless 2

2. The word heart-rending msans
) {1A] painful B3} eisky
{E‘_l/;‘rﬁ'trfsa;ing (D} shocking

193, of children work in hazardous

conditions,
{A) Thousands (B Many
(€ Millions (¥ Five percent
S
14. Thesocietyisaccusedof  jnwards ihe
problemof child labour.
(A) bias B} roports

Q) vulnerability \-‘g}]/i'mumsiﬁvit}'

195, The report was published by
(A} andctivisi.

{B)"a Delhi based non-gevernmental otganization,

(L) - the Delhi povernment.
(O} agovemmental orpanization

CY-20137 Page3!

Passage - [T [Question Mo, 196 1o i)

The advent of electric powear was, in a1 way,
comparable o the successful develnpnst anad application
of puclear power in the 20 century. In fact, fhe historica)
ronks of electricity extend far back info antiquity. Many
men had a hand both in scquring basic knowiedge about
the invisible form of power and in theveluping the ways
adopted for practical purpese. One of the vit] keys that
helped to unlock the doors leading b the production of
electricity was the discovery, in 1831, of the pranciple of
electro-magnetic induction. Thig disvovery was made
simiilianecitsly by Michael Faraday in England and Jnseph
Henry in the United States. Fifim it catne the BCnETOT,
sometimes alse called the dyname but seversl decades of
development had to follow befure the firsl practical
dynamos or generakor came inlg existance in eariy 17

196.  Another word for “advert” iz

(4} congtituHon
\_JMJJ':I'E”

197, Micheal Faraday and Joseph Henry discovered

\M}?\*inrip]# efelectro-magnetic induction

i the application of nuclear power
{C) the generator
{0} the dymarme

{By discovery
{I¥ fwvontion

195, The generator was atso know Tas The
[A] conduacey

[f:} Aynaman

B reducios
TH mvonloy

LY .
-

19, Give a synomsra G “antiquitys
A Uniqueness L(ﬂ["ﬁx:i:_mﬁ

L) Anlipathy I hodorm

200, According v the athor,

14 acvent of electnc power is equivalent i
the application of nuclear power in the
X century,

(B) Micheal Faraday—and loseph - Heary
revilutionized elecricity in the USA

() Nuciear power and eleciricity were dispoversd -

in the 2000 contary.

{3 The ciscovery of principly of elogkn-
magnedic inductive was not an g
ifascoveny,

-l
EFZN ]

B R Tt SRt
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MANNER I8 WHICH ANSWENRS ARE TO BE f;“-’l:h]

arERa o —_—

=T B3 wmi-TgiE

Directions :— Tach question or incompiete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required b select the one that
correctly answers the question or completes
the staternent and blacken [@] appropriate
oval A, B, C or D by Black/Blue Ball-point
_pen against the question concerned in the
Answer-Sheel.

{Eor V.H. candidates corresponding oval
will be blackened by the scribe.)

The following example illestrates the mannes
in which the questions are required to be
answered.

Example : —

Duestion Mo, '(F —

Ot of the four words given below, three
are alike in some way and one is different,
Find the ODD word -

(AY Gird

(B) Boy

(C)  Woman

(D Chair
ExpiTanation :— In the above example, the
cofrech ansieey v’
been saggested ai ‘0. Accordingly, te
answer is o be indicated by blackening |
the oval by Black/Blue Ball-peint pen o
column ‘D" against Cuestion Mo, "CY i the
matner ndicated below
Question No. ‘0

1A] 8] (<l ]
There it only one correct answer o cach
question. You shewld blacken (@] the oval
of the appropriate colemn, viz, A, B, T o
D. If you blacken || more than one oval
against any one question, the answer will e
treated as wrong. I vou wish to cance] any
answer, vou should mmplel-ehr erase that
tlack mark in the oval in the Answer-Sheet,
and then blacken the oval of revised responss,
Youare NOT reguired 1o matk your ANEWETS
in this Booklel. All answers must be
indicated in the Answer-Sheed only.” e
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